MENSoRATIC A

1. Rind the area of a trapezitum whose paralie) sides are 24 cm and 20 cm and the distance
hetween them is 15 cm.

%. Find the area of a trapezium Whose parallel sides are 38.7 cm and 22.83 cm, and e
disiance between them is 18 cm.

2. The shape of the top surface of 2 eble is trapezium. Hs parailel
sides are 1 m and 1.4 m and the perpendicular distance between
them is 0.9 m. Find its area.

4. The arca of a trapezium Is 1080 em?. If the lengths of its parallel sides be 55 cm and 35 cm.,
find the distance between them.

5. A fleld is in the form of a trapezium. Its area is 1586 m? and the distance between its
parallel sides is 26 m. If one of the parallel sides is 84 m, find the other.

®. The area of a trapezlum is 405 cm?. Its parallel sides are in the ratio 4 : 5 and the distance
between them is 18 cm. Find the length of each of the parallel sides.

7. The area of a trapezium Is 180 em? and its height is 9 cm. I one of the parailel sides is
longer than the other by 8 cm, find the two parallel sides.

@. In a trapezium-shaped ficld, one of the parallel sides is twice the other. If the area of the
field is 9450 m? and the perpendicular distance between the two porzilel sides is 84 m, find
the length of the longer of the parallel sidcs.

®. The length of the fence of & trapezium-shaped field ABCD is 130 m A e T
and side AB is perpendicular to each of the parallel sides AD
and BC. IfBC =54m,CD = 19mand AD = 42 m, find the arca of the
field. s

8

[

10, In the given figure, ABCD Is a trapezium in which AD || BC,
AAB‘C:QO‘.AD=-16cm.AC=41mandBC-40cm.Flnd the
area of the trapezium.

Bine. AB2 =(AC? -BCY).

11. The paralicl sides of a trapezium are 20 cm and 10 em. It nonparallel sides are both equal,
cach being 13 cm. Find the area of the trapezium.

12. The parallel sides of a trapezium are 25 cm and 11 cm, while its nonparallel sides are
15 em and 13 em. Find the area of the trapezivm.

I3 2; rectangular water tank is 12 m long and 8 m wide. If it contains 2 meximum of 4200C0 { of water, what is iis
epth? J

|44 Two cubes each of side 5 cm are placed together. Find the volurae of cuboid, ihus obtained.
|5 Aboxis 54 cm X 45 cmx 300 cm. How many soaps can be fitied in it if each measures 9 cm X 5 cm 3 em?
|G A waterreservoir is 2ralong, 1.5 m wideand 1.5 m high. How many litres of water can it hotd?

(F A cuboid is made of metal. Itis 27 cm x 18 cm X 12 em. It is melted and recast into small cubes with an edge
3 cm in length. How many cubes are made?

1R The cover box of a laptop measures 45 cin by 40 ¢ by 30 cm. If a cardboard packet contains a maximum of
15 such cover boxes of laptops, find the volume of the cardboard packet. )

14 A rectangular block of ice measures 42 cm X 25 cm x 18 cm. Calculate its weight in kilograms it 1 cm® of ics
weighs 0.9 grams.

20 Find the volume of the cubeids whese

@ !I=15cm,b=7cmand A=6cm

G !=23mb=30cmandh=7cm

214 Find the number of cubes of 4 cm long that can be made from a cuboid of dimensions 24 cm X 20¢m x 12 cm.
92 How many 4 cm long cubes can be cut from a cube whose edges are 20 cm in length?

23 The volume of acube is 54 cm”. Find the length of its edge.
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é}t’o Jhe curved swrface area of a 14.m high cylinder is 352 m? Find the volume of the cylinder.

[.‘t,'} A 21 em long cylindrical iron pipe has exterior diameter 8 cm. If the thickness of the pipe is 1 cm and iron weighs
8 gf/cm’, then find the weight of the pipe.

/48 Find the volume of the cylinder which is formed by rolling & rectangular sheet of dimensions
44 cm x 12 cm along its length.

49 Acylindrical tank hasa capacity of 1131.90 m?. Find the ciscumference of the base of a cylinder if its heightis 15 m.
¥

K6 The diameter of a pipe of length 20 m is 56 cm. Find the cost of painting the surface of the pipe at the rate of
¥ 12 perm’

5| . Find the amount of water in the cylindrical vessel of length 21 m and radius 3.5 m.

52, How many cubic metres of earth must be dug out to sink a well which is 8 m deep and has a diameter of 28 m?
If the carth taken out is spread over a rectangular plot 22 m by 16.m, whatis the height of the platform so formed?

hH3 A roller of diameter 84 cm having length 120 cm takes 1000 complete revolutions to cover a playground ficld.
Find the area of the field in m”.

Quick{RECALI!

e magnitude of the region enclosed by a plane figure i called the area of the figure.
/Area of arectangle = (length % breadth).

Area of a square = (side)™.

Area of a parallelogram = base x corresponding altitude.

AAreaofatmangle= % x base x corresponding altitude.
/Area of arhombus = % x product of its diagonals.

Aurea of a trapezium = ;- x (Sum of parallel sides) x Distance between the paralle] sides.

L
2
ifem?* =100mm? 1dm?=100cm?
im? =100dm? 1 dam?®= 10000 cm?= 100 m*
ihm* =10000m? 1km?=10°m’
lare =100m? 1 hectare = 100 ares = 10000 m*
/A solid bounded by six rectangular plane faces is called a cuboid.
- A cuboid of equal length, breadth and height is called 2 cube.
A cuboid has 12 edges, 8 vertices and 6 rectangular faces.
The sum of the areas of all the six faces of a cuboid is called the surface area of the cuboid.
/Volume of acuboid =Ixb X h

- Yolume of acube = (side)*
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2/} The rainfall on 2 certain day was 4 cm. How many fitres of water fell or 4 hectares of field on thai day?
25, What will happen to volume of a cube, if its edge is doubled?
2&. Find the volume of a cuboid whose length is double its breadth and height is half of thc breadéh,
27} What will be the labour cherges for digging 2 cuboidal pit 6 mlong, 5 m broad and 4 m desp at the taie of 7 15

per 1000€m’?
2% X swimming pool is 250 m long and 150 m wide. If9375 m® of water is pumped into i, find the hisight of the water
 level.

99, 1f the length, breadth and height of a cuboid are 48 cm, 24 cm and 12 cm respectively, find the side of 2 cubs
whose volame is equal to the volume of 2 cuboid,

30 x?izzdtiteMmﬁmgmmmmmsw&mmwof&ewbeswmwgesam
(x)Jch iy 7m Gh))mZScm v) lIm
3|+ Thedimensions of a cubeldal box are 2m 50 cm x 1 m 25 e x 75 em. Find
(i) the area of canvas required to cover this box; and
{)) the costof canvas for covering the boxatiheratcof?.d.»persquammetrc.

B32.. The paintin a certain conteiner is sufficient to paint an area equal t0 9375 cm?. How many bricks of dimensions
22.5cmx 10 cm % 7.5 cm can be painted out of this container? '

33 Acuboidal metailic box is 40 cm long, 36 cm wide and 20 cm high. Find the total surface arca and lateral surface
area of the box.

34 Eachedgeofacubeis 18 cm long. Find the total surface area and the lateral surface area of the cubs.

35 o/ The length, breadth and height of 2 cuboid are in the ratio 07 4 : 3 : 2, and its total surface area is 5200 crm?®. Find
the dimensions of the cuboid.

36. The walls and ceiling of a room are to be painted. If the length, breadth and height of the room are respectively
5.5m,3 mand 4.5 m, find the area to be painted.

37~ Finé Ue total surface ares and the Inters] surface ares of the following cuboids whose dimensicus 2re.

@ i=9cm,b=7cm, k=3 cm. @) I=13cm,b=5cm, k=7 cm.
38/AswimmingpoolislSminlmgm,M-minhrcadﬁ\andSmindepﬁLFmdﬂleoostofcemcmngitsﬂoormdwaﬂs
at the rate of ¥ 12 per m*.

3C}. Thres equal cubes of side 5 cm are placed together. Find (i) the volume; (ii) the toial surface area; and (iii) the
lateral surface area of the resulting cuboid.

J3(~ Ratio of surface areas of two cubes is 1 : 9. Find the ratio of their volumes.
4|+ Findthe costof painting a cube at T 9.50 per m* whose edgc is 5 m.

42 The lateral surface area of a cube is 256 cn?, Find its total surface area. -
L} 3 /The total surface area of a cube is 294 m?. Find its volume.

4/-;./’1114: volume of a cube is 216 1’. Find its total surface arca.

45 The floor of 2 rectangular hall has a perimeter of 200 m. Ifits heightis 5 m, find the cost of painting its four walls
at the rate of ¥ 25 per sq. m.
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